


1



2



3



4



CALIPER BODY REMOVAL

1.) REMOVE 5/16” BOLT.

2.) REMOVE WIRE RETAINER.

3.) GENTLY PRY UPPER SPRING CLIP OPEN.

4.) ROTATE CALIPER ASSEMBLY OUT FROM UNDER 
SPRING CLIP.

5.) REPLACE PADS OR ROTOR IF NECESSARY.

CALIPER BODY ASSEMBLY

1.) PLACE CALIPER ASSEMBLY IN LOWER SPRING CLIP.

2.) GENTLY PRY UPPER SPRING CLIP OPEN.

3.) ROTATE CALIPER ASSEMBLY UNDER TOP SPRING CLIP.

4.) APPLY LOCTITE #242 AND REPLACE 5/16” BOLT
(TORQUE TO 17 ft. lbs.).

5.) REPLACE WIRE RETAINER

5



ITEM NO. PART NO. QTY./AXLE DESCRIPTION  (5 Lug Version)

1 33640 2 HUB/ROTOR ASSEMBLY
2 36020 2 CALIPER BODY ASSEMBLY
3 33016 1 BRAKE PAD SET (inner shown)
4 33017 - BRAKE PAD SET (Outer shown)
5 —— 1 AXLE WITH BRAKE FLANGE
6 36045 2 MOUNTING BRACKET
7 32372 2 GREASE SEAL, #233-168-SP2
8 32351 2 BEARING CONE, INNER, L-68149
9 32350 2 BEARING CONE, OUTER, L-44649
10 32409 8 7/16”-20 x 1 “ BOLT
11 32410 8 7/16” LOCK WASHER
12 32411 8 7/16” HEX NUT
13 36075 4 SPRING CLIP
14 32500 2 BLEEDER SCREW
15 32307 2 BANJO BOLT
16 32275 2 BANJO FITTING
17 32230 4 COPPER WASHER
18 33020 2 5/16”-18 x 2-1/2” BOLT
19 33155 2 WIRE RETAINER

6

DB-42 DISC BRAKE PARTS LIST



135 Sunshine Lane  •  San Marcos, CA 92069 
760-744-1610  •  Fax 760-744-1616  •  www.ufpnet.com

These disc brakes are guaranteed against defects in materials and
workmanship under normal use and service for a period of two years after
the date of trailer purchase by the first owner. 

Limitations of Coverage 

This warranty does not cover: 

Normal wear and tear, including corrosion

Damage caused by accidents, overload, abuse, modification or
improper use of product.

This warranty is limited to defective parts replacement only. Charges for
installing replacement parts, damage incurred to other equipment as well
as incidental or consequential damages connected therewith are excluded.

Some states do not allow the exclusion or limitation of incidental or
consequential damages, so the above limitations may not apply to you.

Repair or Replacement Procedure
If a failure or defect occurs during the warranty period, promptly contact
warrantor’s (UFP) customer service department. Until such notice is
received, warrantor will not be responsible for any repair or replacement
costs. UFP, at its option, may require return of the component in question
to the factory, transportation charges prepaid. UFP will replace; FREE OF
CHARGE, either the entire disc brake assembly or the part that proves
defective, at its option. Any part found not to be defective will be returned
freight collect with an explanation. Installation of parts and adjustment of
brake systems MUST be performed by a skilled brake mechanic and
service manual instructions must be followed.

Use of Vehicle Identification Number (VIN)
The VIN is a 17-digit number located on the trailer identification label. The
label is located on the left side of the trailer. Be sure to include the VIN
number in all communications with Warrantor.

Purchaser’s Rights
This warranty gives you specific legal rights, and you may also have other
rights, which vary, from state to state.

Product Improvement
UFP has a policy of continuous product improvement. We reserve the right
to change or improve the design of our products without assuming an
obligation to modify any product previously manufactured.

TWO YEAR LIMITED WARRANTY

34008



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


